5 INCH MD Gamma Ray Log
(Scale: 5":100' (10'))

PRODIRECTIONAL

Company: Tapstone Energy State: KS
Well: Jones 6-35-8 1H
Field: Mississippi Lime Country: USA
Well ID: 15-077-22128-01

Job Number: LKS6117115

County: Harper

Elev KB: 22' + 1,230' = 1,252
Elev DF: 1,252’
Elev GL: 1,230’

Location: Sec. 7-T35S-R8W
Operator 1: Ken Mitchell
Operator 2: Brandon McClellan

Comment 1: LAT 37°1' 15.126 N/ LONG 98°13' 12.965 W

Comment 2: Y: 129095.00 / X: 2081675.00

Comment 3: Mud Density (Ib/bbl): 8.4/ Funnel Viscosity (sec/qt):27

Comment 4: Flowline Temp (DegF): °/ HTHP Filtrate (ml/30 min): 99

Comment 5: Max Temp (DegF): 160° (NAD 1927) Gamma Ray in Reference to Elev KB (Kansas South 1502)

Hole Data Casing Record

Size From To Size From To
12 1/4 0' 803 95/8 0' 803
8 3/4 803 5,251' 7" 0' 5,521'
61/8 5,251'

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 1004/3868 2586 1989 2586

Cal Factor 4.19 2.81 2.81 2.81

Gamma Offset 42' 40' 40' 40'

Start Depth 3,175 5,210 6,943’ 9,166’

Start Date 02/13/2015 02/16/2015 02/19/2015 02/22/2015

Start Time 06:34 20:20 1:18 10:13

End Depth 5,210 6,943' 9,166’ 9,499

End Date 02/15/2015 02/18/2015 02/21/2015 02/22/2015

End Time 9:07 13:18 18:51 23:28
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#121 MD:8118.0 TVD:4763.6 1:91.3 A:358.2 VS:3709.8

#122 MD:8182.0 TVD:4762.6 1:90.5 A:358.0 VS:3773.8

#123 MD:8214.0 TVD:4762.3 1:90.5 A:358.2 VS:3805.8

#124 MD:8276.0 TVD:4761.6 1:90.8 A:358.4 VS:3867.8
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#130 MD:8560.0 TVD:4762.1 1:89.5 A:358.1 VS:4151.8

#131 MD:8623.0 TVD:4762.2 1:90.3 A:357.9 VS:4214.8

#132 MD:8686.0 TVD:4762.0 1:90.0 A:358.2 VS:4277.8
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#133 MD:8748.0 TVD:4761.9 1:90.3 A:358.0 VS:4339.8
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8880

8890

8900

8910

8920

8930

‘r‘wﬁ“\uﬂr W“M umﬂw WMVAWW”LWJM*L"J ““”“JMMJ&W”\F Il

1 #137 MD:8937.0 TVD:4758.1 1:191.6 A:358.0 VS:4528.7
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#138 MD:9000.0 TVD:4756.5 1:91.4 A:358.9 VS:4591.7

#139 MD:9032.0 TVD:4755.8 1:91.0 A:359.2 VS:4623.7

#140 MD:9063.0 TVD:4755.5 1:90.2 A:358.6 VS:4654.7

#141 MD:9126.0 TVD:4755.3 1:90.2 A:358.8 VS:4717.7
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#142 MD:9189.0 TVD:4754.8 1:90.7 A:358.7 VS:4780.7

#143 MD:9221.0 TVD:4754.3 1:90.8 A:359.3 VS:4812.7

#144 MD:9284.0 TVD:4753.7 1:90.4 A:358.6 VS:4875.6

#145 MD:9315.0 TVD:4753.6 1:89.9 A:358.8 VS:4906.6
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Gamma APl (MD) Track: 1
API

150
300
450
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Depth
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#146 MD:9379.0 TVD:4753.7 1:90.0 A:358.9 VS:4970.6

#147 MD:9443.0 TVD:4753.6 1:90.1 A:358.8 VS:5034.6

#148 MD:9490.0 TVD:4753.6 1:89.9 A:359.0 VS:5081.6

ROP (MD) Track: 1
on Ft/Hr
0 150
150 300







